Приложение 2 
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const
m=10;
x,yiarray [1..m] of integer;
2,b,c,p,s:real;

n,1:intege:

begin

writeln('ssemire xomMSECTSO Bepm MHOTOYTORBMEA');

writeln ('ssemuze xoopmmary sepms’
zeadln( x[1],v[1])7

to n-1 do

(axoxnerse e cropon Tpeyromsma)
sqzt (sqz (x[1]-x[1]) +sqx (v[1]-v[i])) :
sqzt (sqz (x[1]-x[1+1]) +3qz (v[1]-y[1+1])) 2
t=sqre (sqz (x[1+1]-x[1]) +sqz (v[1+1]-y[1]))
( mwsncneswe monynepuuerpa)

pi=(atbic) /2

{Baacnenne mromam)

s+8qrt (p* (P-2) * (p-b) * (P=) ) ;

end
writeln('miomazs moroyromsEuKas',s)

ena





